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Problem

Work/Answer

Using the letters in SUMMERTIME find the

probabllity of selecting a M, then without
replacement selecting another M.

Determine if (3.-5) is a
solution 10 y=x-3.

Solve the formula forn. i =6m

Find the area of a triangle with a
base of 2u in. and a height of 16
in.

Find 83/ of 5U.
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Problem

Work/Answer

Evaluate for x ==2, 0, and 5. »y=+-1

Find the area of a trapezoid with

bases of 5 m and 10 m and a height
of 7.5 m.

Solve and graph the solution.

m-8=-17

The ratio of sharks to fishis 2 o

25. There are 350 fish in a school.
Find the number of sharks.
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Work/Answer

. Complete. 60o0z=....1b

2. Find the volume of a cylinder with a

diameter of 20 mm and a height of
I3 mm.

3. Find the GCF of I5 and 55.

4. Order from least to greatest.

Numnmm-mw,mﬂswh
5710

5. Solve. 14+3n-s
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Problem

Work/Answer

Find the surface area of d rectanguiar prism with

a length of 6 cm, width of 3 ¢cm, and a height of 8
cm.

Find the product.

807 of I5 is what number?

Complete. 5 v yards =_. in.




owuwxll

PAIOS h

£op

"anpA

S, Jaquinu 9y} 24DWI4SD USY] usamiaq S|P Jaquinu
BYi LDY} SISqUInU Sj0YM DALLNDDSUOD OMJ puld "¢

S.% ©1 Obg wo.dj

-aBupy> Jo JusdsJtad By} puid Z

08Xz~ u)=+s

"U 103 D[NUILIOS BY} BAJOS

wa|qo.d




Q’ac,ﬁcie, ~will e o hmed Hest ot beginni@ of de yeor.

Multiplying With 1, 2, 3,4,5,6,7, 8, and 9 (A)
Note: The other factor has a range of 1 to 10,
_ 6 8 2 6 8 2 1
x 3 x 7 x 7 x 9 x 7 x 1 x 3 X

Free math worksheets at www.math-drills.com



Multiplying With 1, 2, 3, 4, 5, 6, 7, 8, and 9 (A) Answers

45

12

56

54

14

56

18

12

18

40

25

28

25

32

14

24

18

10

24

56

10

63

32

12

81

54

40

20

20

56

48

56

20

72

81

54

10

10

920

72

14

81

90

36

28

32

72
10

72

21

32

81

28

80

49

10

63

72

18

14

27

24

64

12

12

32

54

72

10

35

40

56

14

32

64

56

45

12

18

24

Free math worksheets at www.math-drills.com



